Class 7 Maths Important Questions Hindi Medium

Chapter 15 URHIT 3R &% d

SHATLTRIHD Uy

U 1.

TP JHAWR IgUS D1 Te Yol 3R AT d1s A 4 cm TUT 3 cm | &6 1 HITord |
3dx:

3TYR P TS (b) = 4 cm, ST (h) = 3 cm

TAFR g FT&TBA=b xh=4cm x3 cm =12 cm

U 2.

10 cm ST dTdl Ueh g 1 GRS T DITTI (11 = 3.14 Tifor)
Bl

g BT N (d) = 10 cm I DI GRIY = nid

=3.14x10cm

=31.4cm

UHA 3.
T% UIHR T BT AN 9.8 m § | STHT 8 d J1d HITOT|

Bl
MY (a) =9.8 m
AT: B r=98+2=49m

g BT G (rd)= 2 x (4.9) m?

:¥><4.9><4.9m2

= 75.46 m?




TR D TG HE=THD Ty

Ud 1.

g Byl &1 At J1d HIFT :



x3cmx2cm

W |~
N

Uy 2.

T 3BT & Il B RN & DT s THH ¢ | 8 g B! BdT 10 cm 3R BIe Id B s 4
cm%l?ﬂﬁﬁﬁﬂl:

(a) FS I BT &AHA

(b) BIC I BT &THA

(c) &I gl o S Bifohd U BT &FHd (11 = 3.14 TIfo)

Bl

(a)aéﬁﬁrﬁﬁﬁiﬂﬂo cm

3{d: TS I BT &AHd = Tir2
=3.14x10 % 10 = 314 cm?

(b) BIc Jd &I AT =4 cm
BIC Il DT &FAB = 112
=3.14 x 4 x 4 = 50.24 cm?

(c) BTIfbd HIT BT &Fhd
= (314 - 50.24) cm?
= 263.76 cm?

T 3.

Teh gTehR A=A (disc) P AR 1 PTG forges! Bodm 14 cm 81 (= 22 i)
Bal:

PR dRaR] (disc) DI BT (r) = 14 cm

IR i URIY = 2mr

=2x 2 x14cm=88cm

31ch:, AR AR BT TRIY 88 cm 7



Uy 4.

100 m YT aTel Th TR UTehs Bt URITHT & 1Y T g3 MR Bt 3R Th 5 m ST Uy &1 gl
21 39 UY &1 &A% d J1d P 200 3. Ufd 10 m- BT 3R T 34 i HH &1 Ht 2 J1d S|
Bel

AT ABCD, 100 m YT aTdl FfR UTdh § | STifasd U 5 m dle U4 &1 I |

PQ =100 - (5 + 5) = 90 m &

ABCD T & = (YT)2

= (100)> m? = 10,000 m?

I PQRS &7 &0 = (4)2

= (90)? m? = 8100 m?

3{ct:, T BT B

= (10000 - 8100) m?

= 1900 m?

10 m2 R < S HT T = 200 3.
T, 1 m2 IR A< o[ 1oy = 203,

0
3[d:, 1900 M- TR < HIH BT Y

200

= W X 1900 = 38,000 5-





